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1. Cartrs-lgena Protocol on Biosafety is a part of which of the following protocols ?
(A) - Montreal Protocol
(B) Paris Agreement
(C) Kyoto Protocol |

(D) Convention on Biological. Diversity

2. Two statements are given below. One is labelled as Assertion (A) and the other labelled as

Reason (R). Choose the correct code for your answer :

Assertion (A) : Lakes are considered to be more éuscepﬁible to pollution_ than rivers.
Reason (R) r Waﬁer in lakes may tal‘(e decades to be replaced.

Codes:

(A) Both (A) and (R) are correct and (I.{,) is the correct expiaﬁation of (A).

(B)_ Bpthl- (A) and (ﬁ) are correct, ‘put (R) ils not the ;:or;jt;:ct expl@aﬁoﬂ of (A). .

c) 4 is'correct, but (R) is not qonect.

(D) (A) is not correct, but (R) is correct.
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3. Methane, a greenhouse gas, is emitted from

()
(11)

Landfills

Construction debris

(i11) Wetlands

(iv)

E-waste

Choose the correct answer from the options given below :

(A)
(B)
(&)
(D)

(1), (i1) and (iv)

(1), (iii) and (iv)
(i) and (iii) only
(1) and (iv) only

4.  Match the following :

List-1 List-1I
a. Histosols i. Soil order that includes soils formed on volcanic ash
b. Andisols ii. Soil order of cold regions including soils underlain by permafrost
c. Gelisols iii. Soil order consisting of soils of dry climates
d. Aridisols iv. Soil order consisting of soils with a thick uﬁper layer of organic matter
Codes : .
(A) a-iv, b-, c-ii, d-iii (B) a-ii, b-iv, c-i, d-iii
(C) a-i, b-ii, c-iii, d-iv (D) a-i, b-ii, c-iv, d-iii

5. Which one of the following is not correctly matched ?

(A) Centre for Ecological Sciences ' —  Bengaluru
(B) Wildlife Institute of India : — DERF
(C) Indian Institute of Forest Management ~ Kolkata
(D) Govind Ballabh Pant Institute of Himalayan — Almora
Environment
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6. Which ancient centre of learning is often considered the World’s first university and was
located in present-day Bihar ?
(A) Nalanda (B)  Taxila
(C) Uijain (D) Varanasi
7. What is the primary focus of oriental learning programmes in India ?
(A) Emphasizing mainstream academic disciplines
(B) Preserving traditional arts and culture
(C) Promoting interdisciplinary studies
(D) Incorporating modern technological advancements
8.  Which among the following cannot be stand-alone institutions of higher education ?
(A) Affiliated Colleges
(B) Business Schools
(C) - Nursing Schools
(D) Polytechnics
9. A university that shares learning resources with different universities can be described as
"(A) Affiliating University | |
(B) Alpha University
(C) Meta University ;
(D) Unified Univer;ity
10. NAAC s a/an |
(A) Recognizing body
(B) Accrediting body | :
(C) Affiliating body
(D) Auditing body
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11.

12.

13.

14.

15.

Identify the combination of three main aspects of pupil learning which are important for
effective teaching from the following and select the correct code :

(i) Pupil attending to the learning experiences
(ii) Appropriate learning experiences
(iii) Teacher controlling the pupil

(iv) Pupil receptive to the learning experience
Codes:

(A) (i), (iii) and (iv) | (B) (i), (i) and (iv)
(C) (@), Gi) and (iii) (D) (), (iii) and (iv)

Identify the institution which is directly responsible for the professional growth of teachers
in India. ' ' '

(A) NAAC ' ' . (B) TLC
(C) .CSIR (D) EMMRC

Which of the following is not the characteristic of ‘Swayam Prabha’ ?
(A) Group of DTH channels (B) Quality learning resources
(C) 24 x T Accessibility ' (D) Not a platform for MOOC

Suppose a teacher perfOI"IflS a self-assessment in which he/she exs_tmin_es the pedagogy,
articulates reason and strength for strategies used in the classroom. Identify the method
referred here. '

(A) Macroteaching r " (B) Microteaching
(C) Internship in teaching . D) Reflective teaching

What is the major purpose of choice-based credit semester system in Higher education ?
(A) To reduce the number of courses offered in each progrgmme

(B) To provide flexibility in course selection and credit accmulation

(C) ~To standardize all courses across different universities

(D) To eliminate examinations and assessments
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16. Which of .the following stafements best describes the pOSitivism approach ?
' (A) Positivism emphasizes the importance of subjective experiences.
(B) Positivism advocates for teacher-centered approach. |
(C) Positivism emphésizes the use of qualitative research methods.

(D) Positivism seeks to uncover universal laws and objgcﬁve truths.

17. Ina reéearch study investigating the effects of a new drug on blood pressure, which of the |
following steps involves recruiting participants and collecting relevant information ?

(A) Data analysis | - (B) Hypothesis testing

(C) Literature review (D) Data collection

18. Which section of a thesis is typically responsible for outlining the research objectives,

methodology and scope of the study ?
« LA) 'Iﬁtroducﬁon_

(B) Literature review
(C) Abstract

(D) Analysis

19. What is the main purpose of including references and citations in a research paper ?

(A) Tomake the ﬁaper more visually appealing

(B) To give credit to the work and ideas of other researchers :

(C) To increase the word count of the paper

(D) To s_how the number of references used by the i .

20. How does ICT enhance data analysis in research 9

( A) By dlslcouragmg the use of visualization tools for data interer;'tatiOD
(B) ' By providing access to ad:vanced statistiéal software for automated analysis
(C) By requiring researchers to perform calculatlons manually .
(.D) By promoting the use of traditiona] libraries for information retrieval
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Comprehension

Today, I, Rabindranath Tagore, complete eighty years of my life. As I look back on the

vast stretch of years that lie behind me and see 11 clear perspective the history of my early
development, I am struck by the change that has taken place, both in my own attitude and in
the psychology of my countrymen — a change that carries within it a cause of profound

tragedy.

Our direct contact with the larger world of men was linked up with the contemporary
history of the English perjple whom we came to know in those earlier days. It was mainly
through their mighty literature that we formed our ideas with regard to these newcomers to
our Indian shores. In those days the type of learning that was served out to us was neither
plentiful nor diverse, nor was the spirit of scientific enquiry very much in evidence. Thus,
their scope being strictly limited, the educated of those days had recourse to English language
and literature. Their days and nights were eloquent with the stately declamations of Burke,
with Macaulay’s long-rolling sentences; discussions centered upon Shakespeare’s drama and
Byron’s poetry and above all, upon the large hearted liberalism of the nineteenth century
English politics. At the time though, tentative attempts were being made to gain our national
independence, at heart we had not lost faith in the generosity of the Engliéh race. This belief
was so firmly rooted in the sentiments of o;ir leaders as to lead them to hope that the victor
would of his own grace pave the path of freedom for the vanquished. This belief was based
upon the fact that England at the time provided a shelter to all those who had to flee from

persecution in their own country. Political martyrs who had suffered for the honour of their
people were accorded unreserved welcome at the hands of the English.

I was impressed by this evidence of liberal humanity in the character of the English and
thus I was led to set them on the pedestal of my highest respect. This generosity in their
national character had not yet been vitiated by imperialist pride. About this time, as a boy in
England, I had the opportunity of listening to the speeches of John Bright, both in and outsjde
Parliament. The large-hearted radical liberalism of those speeches, overflowing all narroi

national l’)ounds, had made so deep an impression on my mind that something of it lingess
even today, even in these days of graceless disillysionment. _
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Comprehension
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Answer question nos. 21 to 25 with reference to comprehension.

21. What, according to the author, contributed to Indians forming ideas about the foreigners ?
(A) English rule (B) English literature

(C) Administrative system (D) Economic development

22. What was lacking in the educational system of that time, according to the author ?
(A) Philosophical enquiry (B) Moral principles

(C) Diversity (D) Technological advancement

23. Why did Indian leaders believe that the English will give freedom to our country ?

(A) They ruled us for a long time.

(B) They provided shelter to many political leaders from around the world.
(C) They wanted to go back.

(D) They ruled many parts of the world.

24. Which quality of the English impressed the author ?
(A) Imperialist attitude (B) National pride

(C) Cultural orientation (D) Liberal humanism

25. Why was the author influenced by the speeches of John Bright ?

(A) Because his speeches were relevant beyond national boundaries
(B) Because his speeches were in fluent English
(C) Because he spoke about the welfare of the English people

(D) Because he always supported the freedom of other countries
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(8) 58053 50 weaervb Tad eab NBrvRY Aed rhdmea
(B) ©80833 ez33 2TOREN Nloatarmrlel @qﬁ”a‘dgdﬂ
©) 58000 ead @oNa’ B0 BUEE Wl ARETRT:

D) 53083 w3 cremeriewe @38 BednY o3 33 2ouOIBh

e
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26. Match the following :

27.

28.
29.

30.

f

a. Dewey - i, Communication is for learning from each other
b. Aristotle ii. Oral communication is superior to written text
c. J. Krishnamurti iii. Shared experience is the greatest of human goods
d. Plato iv. Ethos, Pathos and Logos

Codes: _ , |

(A) a-iv, b, c-i, d-iii _ (B) a-ii, b-iii, c-i, d-iv

(C) a-iii, b-iv, c-i, d-ii (D) a-iii, b-iv, c-ii, d-i

Which of the following statement(s) on effective communication i_s correct ?
(i) Communication is exchanging information.

(i) Communication is understanding the emotion and intention behind the information.
(A) Only (i) is correct

(B) Only (ii) is correct
(C) Neither (i) nor (ii) is correct

(D) Both (i) and (ii) are correct

Which ty;ie of communication promotés collaborative learning in a classroom ?
(A) Intrapersonal Communication (B) Interpersonal Communication
(C) Group Communication (D) ~ Mass Communication

Which one of the following is a reading technique ?
(A) Skimming

: : - (B) Expository
(C) Persuasive | - (D) Therapeutic

Two statements are given below. One is labelled
Reason (R). Choose the correct code for your answ

as Assertion (A) and the other labelled és
Assertion (A) :

er:
Barriers of communication are the hurdles that affect th .

reaching the receiver. : : € message quality
Reason (R): It may reduce the emotiona] distance during communication

: t the correct explanation of (A).
(A) is correct, but (R) is incorrect,

(A) is incorrect, but (R) is correct,

S __-""-——--._____ b
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}/évﬁdd)ﬁ?@ BP0B :
a. QRO 1.

RSB om0 O

b. bz i 2P98 gogz:) 0D 398,08 eVIDTAG

¢ o BFRedr . Boaah ernis 2R GUBDAYY Beamna
d. Secdoe v, OGRS, Togees ab@ edeeripess

BReE N ¢ _

(A) a-iv, b, c-ii, d-ii (B)  a-ii, b-iii, ¢, d-iv

C) a-iii, b-iv, c-i, d-ii (D)  a-iii, b-iv, c-ii, d-i
27 B05H)T0 JBoTBIT BYAS abress ®eRB(Rw) FOodreNa ?
()  RoBBID) T9bS AIDOTAG, .
(i) RBoBBRP) RrobS0d bOBR 2R ) CuGeISY, BTFRPBRONFD.

() () B3, BB B) (i) o3, RO
(©) () oo (i) "Babe D) ()b (i) o0e <O
287 olrec3 Bedab RosER SorSabe) misEd s0sabah, cgestIs ?
() B3 SozET B) 80”6 0SB
(€) rhox) TozBN D) <wes JoBS »
. SURRRVE credith L@E Bo3TRS ?
@) a0 @ o
©) BRIIODS D) g3

3 AT BeLBMTY B9 a’ledmﬁd 2083:) B3 (A) omd Sewef IBeNE D) QIR 0B,
R) ootd ejeasesr Se@eRAd. A, BVSBTELN TOTE deer 3ol D78 :

z;:;da’m) . RSB0 dddnWw 4esdREBOM FwT Boress reRyd el Som
| Dethd erdsrivaN.

5205 (R) : Qrd BoBBIB SAONALD) z;wma 8 €030 3BD TR,

BRIV ¢

A) (A R c:)o'cifa oA aiaab (R) (A) 3 "00iren IS,

B) (A) D (R) oTRR SO, 530 (R) (A) & 30aieg aad::sabu

(©) (A) <38, 530 (R) B
D) ()3, oud R RBrNG.
h‘-——--__ __—_———;;a_ce for Rough Work / 2,882 03 %5@@
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| 31. Whi-ch.of the following figure(s) does/do not belong in the series ?
I “ I I1I _

(A) TorIIl ‘ (B) IIonly

’

(C) MandIV - - (D) IVonly

32. On the total amount received by X, 20% was spent on purchases and 5% of the remaining
on transportation. If he is left with ¥ 1,520, what is the initial amount ?

(A) ¥ 1,800 - ‘ (B) ¥ 2,000

(C) <2500 . - o (D) 2,800

33. Aman, Biman and Chiman enter into a partnership by investing 2. 36,000, T 44,000 and
¥ 28,000 respectively. Aman 18 the working partner and gets one-fourth of the profit for his

service and the remaini_ng profit is divided amongst the threein the ratio of their
investments. What is the amount of

% 5,4007 - f Aman gets a net profit of
00 _ _ ' (@
A T21 | B e | (
) =<T1,000 . ' O woe : B ;\r
' ,500 _
. _
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32.

33.

g 39N 3o e903(rwb)

BB Bechzas/gehDY ?

%

X 8030wty deZd), 20% adedriorn @@ evod 5% ®0rn FeEAE. @88 BT
T 1,520 609050, 8008 S63 om) ?

A) T 1,800 (B) T 2,000

(C) ¥ 2,500 (D) T 2,800

VR, DD’ DR Wha* eDZEdaeN T 36,000, T 44,000 ) T 28,000 BedE IRE Swers
STBoArhET. I 3D BUT RS SIVWT0NEIT DR B0 BeSrmf erveid ot e
woth zroricisl aidaiyasd ) EU9T UITY, O30 BeBEY LREBEY HETO JorBBLAG,
OTRRF T 5,400 A5,Y 0edR SECT, BT BB evid Beg om), ?

(A) = 2,100 (B) ¥ 1,200
(©) 1,000 D) = 1,500
‘._‘-—‘-‘_‘—-—-__
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34.

Two men and three boys can complete a piece of work in 10 days, while 3 men and 2 boys
can complete the same work in 8 days. In how many days can 2 men and 1 boy complete the

same work ? .
(A) 12days _ (B) 10days
(C) 12-5days | (D) 115 days

|
35. A hare takes 9 leaps in the same time as a dog takes 4. But the dog’s leap is 2 3 m long,

36.

- while the hare’s is only 1 m. How many leaps will the dog have to take before catching the

hare, if the hare had a head start of 16 m ?
(A) 190 _ (B) 192

(C) 184 : D) 179

In the following question, three statements are given followed by four conclusions. Read the
conclusions and then decide whether the given conclusions are logically true or not.

Statements : =
All trees are hills.
Some hills are animals.

A]ll animals are birds.

Conclusions :

I.  Some birds are hills.

II. Some.birds are trees.
III. Some animals are trees.

IV. No animal is tree.

(A) Only I follows

(B) Only I and III follow SHIKARAT.COM
i Online Educati
(C) Only I and IV follow nline Education

(D) Only either III or IV and I follow ) ' J
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e DD DD Rvezg, BTGy 1
D) 2 DRND e 8&);66333 8 gﬁmm
prfe BRI Eﬁfamt-‘rira@aieaabm 9

0 BINYY wod BUTB, BetrredTuard. 3 Fhad
Forarr i PBBD. 2 HHAD BB 1 Bt oa BINYO

(4) 1203 B) 10 BIAW
(@) TGRS D) 115 BRAW
35" Lot SRV 9 O BNl BRabO mady 4 Bo BReWEE. BTG Tedbah BN g 2— e

sAgd Seod BAST g Be[O 1 e, Zeom) 16 e IR) B0, Seden c.;mmrri@@mdd
DR, LB ey ody AR T a%ﬁoi)zjeaarbéci’ ?

(A) 190 _ (B) 192
(C) 184 (D) 179

[38./6%63 22 0bO Swedh BePBMYRY edeaNs BB ey, SeSTFRINYRY, QeBRNS. Seror SNy
L0 F0B0 VeBT SeTrorSnsh Bodedmon dBTe g e 2023 AFFOR.

BEPSTH) : A
v @DTrwe Veyrive.
By B3N DN,
QLT TN TIMW.

SecrPEITeD -

B0y BIRW BenveNa.

g0z Bgrivh Sorvens.

80%y) TyERW SONVeNS.

aross myedalve TBY-

=l

(&) Sz I Srea, KOARNS

B)  geze I vy 111 o3 FOARNS

€)  Sedio T chay IV &5od) J0aiRNS

D) Seco 111 ogzs IV @ [ BOWRNT
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37. The triangle,
people respectively.
who are not hardworking ?

\

Which one of the areas marked I — VI Tepresent the urban educaty;

I .
/ e
IV
111 _ ‘"
VI Vv VII
&) I ' (B) 1I
c) IV (D) III

38. Answer the following questions on the basis of the information given below :

R P
A E
N S
v W
Q S

Four security guards P, Q, R and S have been posted at the four corners of the huge cashew

plantation farm as shown in the above figure.

. ' ; ide
From the original position, P and R move diagonally to opposite corners and then one S!
1 9
each in the clockwise direction. Which of the corners is unmanned at Hhi e

() South-West (B) South-East

(C) NOPth-East

Space for Rough Work / WO euﬁ% 7@

(@) North-West g
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gyt SReORDT SBnex, P 3y o
.Jgfaaﬁbécf. I — VII aogy mdba;dmdd

3P N IJrid, Fahdeo DD ITyFo3 IR
$ 0%, BEIBRIS ? HegrivQ anDch 8336, 3uR @ [nd dmHes

VII

A II B) " 1
© IV D) 1
6. 9t dedend cratbdod sgaod dhed & dvhn BEr0r ous0.
R P
A E
N 5
v W
QL— ' : S

eOR WBBO ZeedITHBoT WBS riverod Soed e, Shednv) Toud BdEe 2200 P, Q,
R S o) daieestoond.

dvau Tsosd, P @z R Bederobzmen chocs ReUner ¥ORDZS D) [oBT 33adeode
mdéma—gdmﬁ 83,39 BORT. 8 FDbTY ared edady) BRRSCLBTNG ?

(C) Brzow; _ - D) =eaing
—

Space for Rough Work / 2,083 39,45* el

[

GEN202300 o (23-D1)

www.shikarat.com



39. What is the value of
1 4 7

2-3 5-6 8-9
(A) 8
(B) 10
©C 7
(D) 13

40. BEHAVIOR is related to IMPROPRIETY in the same way as WORD is related to
(A) USAGE
(B) MORALITY
(©) HONESTY
(D) MALAPROPISM

41. Study the tablg given below and answer the following questions :

2011-12 | 2012~ 13 | 201314 | 2014 15
.| Area 59 5-86 596 5
5 | Production| 896 806 | 9.99 96
= Yield - 1518 1376 1676 | 1602 )

Units: Area is given in million hé'c;cares (Mn. Ha)
" Production is given in million tonnes (Mn. T) and
Yield is given in kg/hectare (kg/ha)

If the production of maize increases at 4 compound annual growth rate‘which- is same
as the growth rate between 2012 -13 and 2013 — 14,

. then what would pe the yield
(in kg/hectare) of the crop in 2015 - 16, area under cultivation remaining the same ?
(A) 2276 ' - (B) 2518 |

(C) 3124 : (D) 2850
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(
(

]

/BEHAVIOR %33 IMPROPRIETY m@ds Bert DowoddBalee e Bedabd WORD
AT, BRI ? .

USAGE.
MORALITY
HONESTY
MALAPROPISM

(B} .
©)
(D)

4L 391 Qedens Eeeg B BT0bS @B aid & SVAR BFRen eEes .

E 2011-12 | 201213 | 2013 - 14 | 2014 15 | 2015 16 |
» | B33 59 586 | 596 5 -
U -,
'g*, TS | 896 806 | 999 9-6 9.19
B QWSO 1518 1376 1676 1602 1493
B : FTeITR), DO BTV AXBINS (Mn. Ha) |
. BT3B, |
v B abRD, HObRF BRTIVE BTG (Mn. T) abay
o C : :
. awaBab) B8/EE, ¢ QBN (kg/ha)
D8 revd vz BID Socdng @edFd BV T0 @epwd DD em 2012 — 13 D)
2013 — 14 3 SPDAS LISedriad godde 8NE0, THE® Bues vge ¥gY, 2015 — 16 30 2wad
(B/88e0°=0) 23 DST ?
@ (B) 2518
© 2270 (D) 2850
) 3124 -
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42,

fully and answer the question below :
care

Study the follc::mng graph | - Qi %
100 - | —0— Company Y
90 -
80 -
§
2 70 -
o 60 -
£ 50-
e 404 Ly
- 30- - . B
20
10 | ;
0 —>
2007 2008 2009 2010 2011 2012
Years
The expendlture of company Y in 2008 and 2009 is¥ 25 lakh and ¥ 30 lakh respectlvely.
What was the total income of company Y in 2008 and 2009 together ?
(A) T863lakh (B) ¥813lakh  (C) T 855lakh . (D) ¥ 83-4lakh
43. A questlon is followed by information in three statements Study the question along with
the mformatlon given below and decide the information in- which of the statement(s) is
necessary and sufficient to answer the question. Choose your answer from the options
provided. ' :
What is the two-digit number ?
i. The number obtained by mterchangmg the digits of the number is greater than the
original number by 18.
ii. The sum of the two digits of the number is 14.
iii. The difference hetween the two digits of the number is 2.
(A) Onlyiandii (B) iii and either i or ii
(C) ii and either i or iii (D) iand eitherii or iii |
Space for Rough Work / w8t GU:;'% s _ '
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‘?/ ZYNS My O, o B30T OF LS Db SRy YN SFT evZ0
A =
100 . - - X 303

80 -
70 -
60 A
50 -
40 -
30 -+ ' ok
20 -
10+
0

FesE 923

2007 2008 2009 2010 2011 2012

: SReAD
2008 S 2009 GO ¥ BoBAc axbr e ¥ 25 oF @) T 30 oF 2008 B 2009 O Y
B0 WED), [Cinplo] c:)aigj v '

(A) T 86:3 ©F (B) ¥ 8133 (C) % 85508 (D) % 83408

,M ol BFH Bwod D BePBVY aabAobl dederRr. B9n edeRs aebdodeodr
BZobr) GHWS 208 Bd I IO AT FedS onid; DI THIVIE 20T
AFEDD. wBAT Bl NPT D), eVBOTY, e383d.

STBR-eodad Ko ey ? |

i. Toajad ©o3rva), 0T wBTMDS Zes SEE Josfodn DL gosoz 18 dos
GEplglodlial

ii. ®oafod OTD ©odnY 3y 14 8N

i, Sosi,ab 90w LoBRY FDAT D 2 BNS.

(A) i il ST | o (B) il @) i oo i

(€) ii ) i g il D) i3 ii oFe il

P
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44.

45.

46.

A new express train has a capacity of 500 seats, of which 10% are in the Executive class
and the rest are in the Chair car. During the journey, the train was booked to 85% of its
capacity. If the Executive class was booked to 96% of its capacity, then how many Chair car
seats were empty during that journey ?

(A) 87
(B) 173
e 72
(D) 85

Two quantities, one in column A and one in column B are given. Determine i;he relationship
between the two quantities.

Column A ' - Column B
9+ —-1—1 : 10
09 +——
+9+1

(A) The quantity in column A is greater than the quantity in column B.
(B) The quantity in column B is greater than the quantity in column A.
(C) Both the quantities are equal.

(D) The comparison cannot be determined from the given information.

Which one of the following organizations mamtams the database related to allocatlon of
IP address of the Internet ? .

(A) World Wide Web Consortium (W3C)
(B) Internet Engineering Task Force (IETF) | |
(C) Internet Corporation for Assigned Names and Numbers (ICANN) . |

(D) Internet Society (ISOC) , |

GEN202300 (28-D1)
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2,00 DRV OFF BF B
?/mb s ;:BJN 34 500 esxmiriy TR FeR BoBT, ©TOO 10% sr0bedmerEs SHrdod
(4]0] 5 )
; 7 SO Batran ebancg, 0o, oS TR 85% 1 sy,

DFDF B ' '
D) JINED) 9o SR 96% 8, 3200g0, & Falrennd A@), Je0f F0° deewriwh
20008NZ) ?

(A) 87
(B) 173
©) 72
(D) 85

‘?/ S0 A D) 0B B B o8 Banenniva, B, aom saiend SRR Joworas)

Niajze )
S3F A SoudF B
9+ —1—1 - 10
0-9 +
9+1

(A) 0BF A HOS BTHD B 503FRODE 8@r068,03 BE s,
(B) o0z B ohOS 3@5060a) A 5203FIODE &edrend 038 339 D3T3,
(C) odde SRreantd JSTeNS.

\

D) QedHd SrebdSabon BeeOBLRY) édfaxmmd}&sg.

;1;/ g BYAR Bognve i @RS TP AVoR Boudr owodds deses =) ASFHRIBT ?
(A) Sere 3,0 BeF B3aeedrabo (W3C)
(B) woe3Jees Rozabdor’ t.‘:rami apes’r (IETF)
(C) @oeJees’ saaﬁhfdea?m‘ ‘amc‘ Jedf, o SowFE (ICANN)
(D) @oesdeer el (ISOC)
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47. Match the following :

a. Internet 1. Private Network

b. Intranet ii. Local Area Network

c. Extranet iii. Public Network

d. Ethernet iv. Virtual Private Network
Codes:

(A) a-ii, b4, c-iv, d-ii
(B) a-iv, b-, c-ii, d-iii
(C) a-iii, b-iv, c-ii, d-i

(D) ‘a-iv, b-iii, c-, d-ii

In which year was the EDUSAT, the first Indian Satellite built exclusively to serve
educational sector, launched ? '

(A) 1984 (B) 1994 (C) 2004 (D) 2014

49. Match the following :

a. Physical classroom i. ° Online/offline — Asynchronous

b.  Virtual classroom ii. Online and offline — Asynchronous

c. Hybrid classroom  iii. Online — Synchronous

d. Recorded video iv.  Offline — Synchronous

Codes:

(A) a-ii, b, c-iv, d-iii (B) a-iv, b-iii, c-ii, d-i
(C) a-ii, b-i, c-ii, d-iv (D) a-iv, b-ii, c-i, d-ii

50. Which is an alternate term referring to website domain name ?

(A) Uniform Resource Locator (B) Unique Resource Locator -
(C) Web Resource Identifier (D) Web Resource Locator

Space for Rough Work / 2,083 Goﬁ% iy -

GEN202300 (30-D1)

www.shikarat.com



. SnRIivEY saoBe

a.  RoLJeesr L 2oxh Serdste

b, 20t . edpedef B Ferase
. om 3 il modreds Sudet
d o3 V. Subrger wedh SEEEE
BReEFNW : B

(A) a-diii, b-i, c-v, d-ii
(B) a-iv, b, c-ii, d-iii
(C) a-iii, b-iv, c-i, d-i

(D) a-iv, b-i, e, d-ii

;3-/ 7 ;3638 Soobd, Jes ﬁ@nﬁw B3,e8z0N ADERTT dradb 23903e0h evar@ae EDUSAT ey

airoa SRFEO TYBODTTRANE ?  Srananoon

(A) 1984 (®B) 1994 _ (O 2004 D) 2014
49 SUNRVRY Woodd: R

a. b3 3013 | R TR — ORSEI0B

b. Sebrses 3RS SO D) eTU — eRDEOF

¢ BOFEBORE il ST - dodeRS

d. Omoufe 2083 deBole . iv. ea‘déa‘—&oagﬁm‘

BReT i : |

(A) adii, bd, cdv, diii (B) a-iv, b-iii, c-ii, d-i

(C)  adi, bd, cdii, div . (D) adiv, beiii, cd, d-i

50, Serdyes e B0R) eudedria dobrrab 3 A ?
(A) adgeasre dxdeed’s dpdest’ (B)  oludz® ieest eloBecsot

(©) s DRvente pBF b0t (D) S dReexs odeescs
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